
Scoring Hazards: 
The hazard times will be submitted on the time sheets - there are two methods of scoring 
from this information: 

1. Add the times using the time function on the calculator, then use the time 
converter table to change the total time into penalty points: 

Example: Haz #1 - 1:13, Haz #2 - 0:55, Haz #3 – 1:02, Haz #4 – 0:47, Total time – 3:57
Using the table below, 3 minutes (far left col.) = 36 penalties and 57 seconds = 11.4, 
next, add 36 + 11.4 = 47.4 penalties will be the total hazards score.
MINUTES-  PENALTIES SECONDS - PENALTIES SECONDS - PENALTIES
1-12  1 -.2  31 -6.2 
2-24  2 -.4  32 -6.4 
3-36  3 -.6  33 -6.6 
4-48  4 -.8  34 -6.8 
5-60  5 -1.0  35 -7.0 
6-72  6 -1.2  36 -7.2 
7-84  7 -1.4  37 -7.4 
8-96  8 -1.6  38 -7.6 
9 -108  9 -1.8  39 -7.8 
10 -120  10 -2.0  40 -8.0 
11 -132  11 -2.2  41 -8.2 
12 -144  12 -2.4  42 -8.4 
13 -156  13 -2.6  43 -8.6 
14 -168  14 -2.8  44 -8.8 
15 -180  15 -3.0  45 -9.0 
16 -192  16 -3.2  46 -9.2 
17 -204  17 -3.4  47 -9.4 
18 -216  18 -3.6  48 -9.6 
19 -228  19 -3.8  49 -9.8 
20 -240  20 -4.0  50 -10.0 
21 -252  21 -4.2  51 -10.2 
22 -264  22 -4.4  52 -10.3 
23 -276  23 -4.6  53 -10.4 
24 -288  24 -4.8  54 -10.8 
25 -300  25 -5.0  55 -11.0 
26 -312  26 -5.2  56 -11.2 
27 -324  27 -5.4  57 -11.4 
28 -336  28 -5.8  58 -11.6 
29 -348  29 -5.8  59 -11.8 
30 -360  30 -6.0  60 -12.0 

(Ready reckoner for calculating the number of penalty points at the rate 
of 0.2 penalties for every commenced second)  

2. Convert the times into seconds, add the seconds and then multiply the total 
number of seconds by .2 - that result will be your penalty score. 

Example: 
Haz #1 - 1:13, Haz #2 - 0:55, Haz #3 – 1:02, Haz #4 – 0:47 
The times for hazards 1 & 3 are in minutes and seconds, so both will have to be 
converted to seconds before adding them all together 
Hazard #1 1:13 = 73 seconds, #2 = 55, #3 1:02 = 62, #4 = 47 
Total seconds = 237 seconds x .2 = 47.4 penalties 


